
 

Solution Exercise 5
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Rewriting all three terms in the commutator

Jacobi identity directly gives the one of
the strancture constants times Te



To show that f are real take the

hermiteon conjugate of 1
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Take the transpose of 1

TG Ta ifabe pct

ET'T 1 65 if f test

For any representation also
1 To is one

For the adjoint representation the two are equal

TI Ti if if Tf



3
summation over a
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For CA
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Bonus exercise

Ferritin matrix can be written

as M Co 1 Cat

Note Tr t M Cats t't

TI Cb Cb

Tr 1M Cotr 1 Co N

M tr M 1 It 2 Tr M t Jt

In components

Mij Mek dicedig

Melediedge



This must hold for any Mek

t tie di die I diedin


